

If not claimed return to GPO Box 2567 Melbourne Victoria 3001

October 2020

Shane Preston Theprestos SMSF1 141B Fuller Street NARRABEEN NSW 2101

Dear Sir/Madam,

# Your 2019/2020 annual tax statements

Please find your MLC Wrap Investments annual tax statements to 2019/2020 enclosed. These statements include all income and capital gains while the portfolio has been in MLC Wrap Investments. Enclosed you'll find the following:

- n Consolidated tax summaries to help you prepare your income tax return
- n Income statement if you've received any income during the financial year, and
- n Capital gains statement if you've sold any investments during the financial year.

Please keep these statements for income tax purposes.

### Supplying income and tax information to the ATO

If you've transferred the investments reported here to or from another Investor Directed Portfolio Service provider during the 2019/2020 financial year, there may be additional income to include in your income tax return.

We encourage you to speak with your financial or tax adviser about this.

# We are here to help



Chat with us online at **mlc.com.au** or call us on **132 652** for more information.



Go online at **mlc.com.au** to register for online statements.



Update your details online
at mlc.com.au today

Issuer/Operator Navigator Australia Limited ABN 45 006 302 987 AFSL 236466 GPO Box 2567 Melbourne VIC 3001 Tel 132 652 Fax (03) 9869 1595 **mlc.com.au**  If you have any questions, please speak to your financial adviser Daniel Perkins on **02 84597439** or call us between 8am and 6pm (AEST/AEDT), Monday to Friday.

Thank you for choosing MLC to look after your investment needs.

Yours sincerely,

4/m 6

Sam Wall General Manager Wealth Products & Platforms

# Consolidated distributions/attributions - superannuation fund

### Tax information for year ended 30 June 2020

### MLC Wrap Investments Series 2 account number: 24873800005

This statement includes all income and capital gains paid or attributed to the self-managed superannuation fund for the year ended 30 June 2020 where the investment records have been maintained by MLC Wrap. If you've transferred the administration of the investments to or from another wrap provider during the year ended 30 June 2020, there may be additional income/capital gains to be included in your income tax return.

The references in brackets refer to the relevant codes in the 2020 Income Tax Return Form for complying self-managed superannuation funds. They assume that the self-managed superannuation fund was a complying super fund for the entire financial year.

Components	Distributions/ attributions	Tax offsets	Taxable income
Dividends - unfranked amount not declared to CFI Dividends - unfranked amount declared to be C Interest subject to withholdings tax Interest not subject to withholdings tax Other income* Exploration credits Early stage investor tax offsets ESVCLP tax offsets LIC Capital gain deduction Less other allowable trust deductions	\$1,784.94	\$0.00 (13E4) \$0.00 (13D3) \$0.00 (13D1)	\$1,784.94 \$739.77 \$566.50 \$549.10 \$811.36 \$0.00 <u>\$0.00</u>
Gross distribution from trusts	\$4,451.67		\$4,451.67 (11M)
Dividends - franked amount	\$10,288.85	\$5,268.98 <sup>(13E1)</sup>	\$15,557.83 <sup>(11M)</sup>
Non-discounted capital gains (TAP)* Non-discounted capital gains (Non-TAP)* Discounted capital gains (TAP)* Discounted capital gains (Non-TAP)* CGT concession amount AMIT CGT gross up Credit for foreign resident capital gains withhole	\$0.00 \$0.00 \$39.71 \$24,365.91 \$0.00 \$24,405.62 dings	\$0.00 ( <sup>13H8</sup> )	\$0.00 \$0.00 \$52.95 \$32,487.88 \$0.00 \$0.00
Total capital gains	\$48,811.24		\$32,540.83
Assessable foreign sourced income Australian franking credits from a New Zealanc franking company	\$6,239.38 I	\$769.05 <sup>(13C1)</sup> \$0.00 <sup>(11E/13E</sup>	\$7,008.43 <sup>(11D1/11D)</sup> E1) \$0.00
Total non-assessable amount	\$130.24		
Total distributed/attributed income	\$69,921.38		

\*Other income includes any 'non-concessional MIT income (NCMI) - non-primary production' and any 'Excluded from NCMI - non-primary production'. These NCMI components are relevant in working out any non-resident withholding tax applicable for the income year. Contact us if you need a breakdown of these components.

000179191100005MLC 000024873800005MLC TX20R5-1A->PRES-20201021

### Expenses and traditional securities

Administration fees	\$2,474.46 (12l1)^
Adviser service fees	\$3,304.53 (12l1)^
Confirmation fee on term deposit	\$0.00
Instalment warrant borrowing fees and fixed interest	\$0.00 <b>(12l1)^</b>
Instalment warrant annual pre-paid interest	\$0.00 <b>(12A1)^</b>
Interest charged on cash account	\$0.00 ^
Income protection premiums	\$0.00 <b>(12F1)^</b>
TFN tax withheld	\$0.00 <b>(13H3)</b>
Gains on realised disposals of traditional securities	\$0.00 <b>(11S)</b>
Losses on realised disposals of traditional securities	\$0.00 (12L1)

This statement doesn't include any expenses in relation to Death/TPD premiums. If you've incurred expenses in relation to Death/TPD premiums, please speak with your accountant or tax adviser.

A traditional security is broadly a security that's unlike an ordinary share in a company or unit in a unit trust. On disposal or redemption, traditional securities fall outside the CGT regime meaning any gains are assessable as income and any losses are deductible to the taxpaver.

^ We recommend you seek professional tax advice for guidance on whether these expenses are deductible and can be claimed on your income tax return.

# Additional capital gains information

The following capital gains information includes the capital gains/losses shown on the Capital gains statement, together with the distributed/attributed capital gains the self-managed superannuation fund received.

### Net capital gain\*

If you've received or had capital gains as part of your distributed/attributed income or made capital gains or losses from the sale of your investments, then you may have a net taxable capital gain for the income year or a net capital loss to carry forward to future years.

The net capital gain or current year net capital losses amounts have been calculated by applying any capital losses to your capital gains in an order that will produce the lowest capital gains tax for you.

Please refer to your Income statement to see your distributed/attributed capital gains and your Capital gains statement if you sold any of your investments during the year.

### Current year net capital losses

\*This amount includes any 'non-concessional MIT income (NCMI) - capital gains' and any 'Excluded from NCMI - capital gains' that have been distributed/attributed. These NCMI components are relevant in working out any non-resident withholding tax applicable for the income year. Contact us if you need a breakdown of these components.

#### Cost base adjustment information for AMIT

Where a Managed Investment Trust has elected to be an Attribution Managed Investment Trust (AMIT), then your cost base may be increased or decreased based on the information provided on an AMIT Member Annual Statement.

We recommend you seek professional financial advice whether investing in an AMIT is appropriate for you.

\$6,283.35 (11A)

\$0.00

#### Notes

Specific tax rules applying to certain eligible managed funds under the Attribution Managed Investment Trust (AMIT) regime. A large proportion of externally managed funds offered through MLC Wrap have applied these rules. You may wish to speak to your registered tax agent on how these rules may impact your personal tax circumstances.

Under the AMIT regime, the income upon which you are subject to tax may not be the same as the amount received in actual cash payments. Specific rules apply in deriving the amount assessed to you. Speak to your financial adviser or registered tax agent if you require further assistance.

Net capital gain doesn't include Capital Gains Tax (CGT) events of investments held outside MLC Wrap. Your prior year capital losses within your MLC Wrap investment portfolio haven't been included in the above. The additional capital gains information has been prepared on the basis that you're an Australian resident superannuation fund and isn't relevant if you're a non-resident.

If you have any difficulty in preparing the self-managed superannuation fund income tax return, please speak with your accountant or tax adviser.

Australian taxation law requires you to hold shares directly or indirectly for at least 45 days to be eligible for the full tax benefits of franking credits attached to franked dividends. In some cases, the holder of an interest in an Attribution Managed Investment Trust (AMIT) does not need to meet this requirement, in respect of franking credits. Please speak with your financial adviser or tax adviser for further information.

\*TAP means Taxable Australian Property and Non-TAP means Non-Taxable Australian Property. This distinction is only relevant if you're a non-resident investor. The taxable income column has been prepared on the basis that you're an Australian resident for the whole income year.

Foreign Income Tax Offsets (FITO) represent tax already paid on income sourced in a foreign country and generally forms part of your assessable income. You can claim a non-refundable tax offset for FITO subject to a cap (which is lesser of the foreign taxes you paid or were attributed to you and the Australian tax payable on your foreign income) unless your total FITO, from all sources, for the year is \$1,000 or less, in which case you can claim the entire FITO you received. Please speak with your financial adviser or tax adviser for further information.

The taxation of financial arrangements (TOFA) rules may be applicable to you. Due to the complexities associated with TOFA and the fact that we're not aware of your personal circumstances, this statement doesn't take into account any TOFA implications. Please speak with your financial adviser or tax adviser for further information.

Please retain these statements for income tax purposes.

# We're here to help

If you have any questions, please speak with your financial adviser Daniel Perkins on 02 84597439 or call us on 132 652 between 8am and 6pm (AEST/AEDT), Monday to Friday.

# Income statement (income and expenses)

### Income from 1 July 2019 to 30 June 2020

Service	Australian sourced income	Foreign sourced income	Non- discounted capital gains	Discounted (50%) capital gains	CGT concession / AMIT CGT gross up	Total non- assessable amounts	Cash distribution	Franking credits	Foreign income tax offsets	Other Credits Offsets
	(1)	(2)	(3)	(4)	gi ööö üp (5)	(6)	(7)	(8)	(9)	(10)
MLC Wrap Investments Series 2 Account number: 24873800005										
Managed investments										
J Hend Tac Inc Fund #	\$100.54	\$21.89	\$0.00	\$10.65	\$10.65	\$0.00	\$143.74	\$1.07	\$0.00	\$0.00
Magellan Global Fund #	\$0.00	\$0.00	\$0.00	\$10,080.81	\$10,080.81	\$0.00	\$6,508.15	\$0.00	\$0.00	\$0.00
Pengana Aust Equities Fd #	\$2,696.28	\$1,443.98	\$0.00	\$2,691.13	\$2,691.13	\$121.43	\$9,643.94	\$1,436.05	\$29.75	\$0.00
Pengana Emerging Co Fd #	\$670.09	\$52.72	\$0.00	\$1,148.61	\$1,148.61	\$0.28	\$3,020.30	\$626.50	\$23.36	\$0.00
PIMCO Div Fixed Int W #	\$981.91	\$1,083.77	\$0.00	\$5.52	\$5.52	\$0.00	\$2,076.73	\$0.00	\$0.12	\$0.00
T. Rowe Price Global Eq #	\$0.00	\$0.00	\$0.00	\$6,701.14	\$6,701.14	\$0.00	\$13,402.28	\$0.00	\$56.35	\$0.00
Templeton Global Equity #	\$1.27	\$265.56	\$0.00	\$7.06	\$7.06	\$0.00	\$280.94	\$0.00	\$54.82	\$0.00
Vanguard Inter'l Sh Index #	\$18.58	\$2,915.60	\$0.00	\$3,538.89	\$3,538.89	\$0.00	\$9,015.53	\$0.00	\$410.76	\$0.00
Walter Scott Global Equity #	\$3.92	\$341.20	\$0.00	\$221.81	\$221.81	\$0.00	\$788.73	\$0.00	\$144.75	\$0.00
Shares										
AGL	\$640.04	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$640.04	\$219.45	\$0.00	\$0.00
AMCOR	\$568.34	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$568.34	\$0.00	\$0.00	\$0.00
ANZ BANK	\$694.40	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$694.40	\$252.96	\$0.00	\$0.00
ARISTOCRAT	\$143.48	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$143.48	\$61.49	\$0.00	\$0.00
BHP	\$1,184.87	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$1,184.87	\$507.80	\$0.00	\$0.00
BORAL LTD	\$487.66	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$487.66	\$104.46	\$0.00	\$0.00
CAR SALES	\$376.47	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$376.47	\$161.34	\$0.00	\$0.00
COMMONWEALTH BANK	\$1,111.98	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$1,111.98	\$476.56	\$0.00	\$0.00
CSL	\$197.42	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$197.42	\$0.00	\$0.00	\$0.00

000179191100005MLC TX20R5-1A->PRES-20201021

Page 1 of Income statement

Service	Australian sourced	Foreign sourced	Non- discounted	Discounted (50%)	CGT concession /	Total non- assessable	Cash distribution	Franking credits	-	Other Credits/
	income	income	capital	capital	AMIT CGT	amounts	distribution	creans	offsets	Offsets
			gains	gains	gross up					••
	(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)	(10)
INSURANCE AUST GROUP LTD	\$426.30	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$426.30	\$127.89	\$0.00	\$0.00
JB HI-FI	\$551.61	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$551.61	\$236.41	\$0.00	\$0.00
MACQUARIE GROUP LTD	\$463.60	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$463.60	\$85.34	\$0.00	\$0.00
RESMED	\$0.00	\$114.66	\$0.00	\$0.00	\$0.00	\$0.00	\$114.66	\$0.00	\$49.14	\$0.00
RIO TINTO	\$453.55	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$453.55	\$194.38	\$0.00	\$0.00
SONIC HLTH	\$396.95	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$396.95	\$51.03	\$0.00	\$0.00
SYDNEY AIRPORT	\$628.58	\$0.00	\$0.00	\$0.00	\$0.00	\$0.49	\$629.07	\$0.00	\$0.00	\$0.00
TABCORP ORDS	\$517.44	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$517.44	\$221.76	\$0.00	\$0.00
TRANSURBAN GROUP #	\$120.76	\$0.00	\$0.00	\$0.00	\$0.00	\$8.04	\$128.80	\$0.00	\$0.00	\$0.00
WESTPAC	\$323.20	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$323.20	\$138.51	\$0.00	\$0.00
WOODSIDE	\$464.61	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$464.61	\$199.12	\$0.00	\$0.00
WOOLWORTHS LTD	\$389.34	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$389.34	\$166.86	\$0.00	\$0.00
Cash										
Cash Account Interest	\$127.33						\$127.33			
Total	\$14,740.52	\$6,239.38	\$0.00	\$24,405.62	\$24,405.62	\$130.24	\$55,271.46	\$5,268.98	\$769.05	\$0.00

# Note: This investment has elected to be an Attribution Managed Investment Trust (AMIT)

Expenses				
Administration fees (investment) Adviser service fees (investment)	(11) (11)	(\$2,474.46) (\$3,304.53)		

Dividends - franked amount	(15)	\$10,288.85
Dividends - unfranked amount not declared to be CFI	(16)	\$1,784.94
Dividends - unfranked amount declared to be CFI	(16)	\$739.77

# Income statement (non-assessable amounts)

Service	Тах	Return	Тах	Тах	Other non-	Non-assessable	Total non-	AMIT net cost
	deferred	of	free	exempted	assessable	non-exempt	assessable	base adjustment
		capital			amount	amount	amount	
	(18)	(19)	(20)	(21)	(22)	(23)	(6)	(24)
MLC Wrap Investments Series 2								
Account number: 24873800005								
Managed investments								
Magellan Global Fund #	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$13,653.48 Upward
Pengana Aust Equities Fd #	\$0.00	\$0.00	\$0.00	\$0.00	\$121.43	\$0.00	\$121.43	\$121.43 Downward
Pengana Emerging Co Fd #	\$0.00	\$0.00	\$0.00	\$0.00	\$0.28	\$0.00	\$0.28	\$0.28 Downward
Vanguard Inter'I Sh Index #	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$996.45 Upward
Shares								
SYDNEY AIRPORT	\$0.49	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.49	\$0.00
TRANSURBAN GROUP #	\$0.00	\$0.00	\$0.00	\$0.00	\$8.04	\$0.00	\$8.04	\$8.04 Downward
Total	\$0.49	\$0.00	\$0.00	\$0.00	\$129.75	\$0.00	\$130.24	

# Note: This investment has elected to be an Attribution Managed Investment Trust (AMIT)

### Notes

- (1) Total Australian income sourced from investments held in Australia, not including franking credits or capital gains.
- (2) Total foreign income sourced from investments held outside Australia, not including foreign tax offsets or capital gains.
- (3) Capital gains including Indexation and short gains (i.e. not subject to discounting rules).
- (4) Capital gains subject to discounting rules.
- (5) Amounts related to discounted capital gains from a Managed Investment Trust or an Attribution Managed Investment Trust, that are not included in your assessable income and do not affect the cost base of your units.
- (6) Total amounts distributed/attributed to you that are not included in your assessable income. Refer to the Income statement (non-assessable amounts) table for further details.
- (7) Cash distribution income received in respect of the income year, including any expected post AMMA payments. In simple terms, a post-AMMA payment is a cash distribution in respect of the income year that is received from certain managed investments after year-end.
- (8) Credits relating to tax already paid by companies in Australia.
- (9) Credits relating to tax deducted by overseas governments from investments held outside Australia.
- (10) The sum of Exploration Credits, Credit for foreign resident capital gains withholding, Early Stage investor tax offsets & Early stage venture capital limited partnership (ESVCLP) tax offset.
- (11) Fees paid for the management of the plan.
- (12) Premiums paid for income protection insurance policy.
- (13) Tax withheld from Australian residents who haven't provided a valid Tax File Number, Australian Business Number or relevant exemption from quoting a Tax File Number.
- (14) Tax deducted from non-residents in relation to certain Australian sourced income and capital gains.
- (15) Total franked dividends included in Australian sourced income.
- (16) Total unfranked dividends included in Australian sourced income.
- (17) Total interest charged on negative cash account. This may happen if you buy investments using proceeds from sales that aren't final, or if you haven't allowed for fees or other payments.
- (18) Income not assessable, however (for interests in Managed Investment Trusts) will adjust the cost base of units for capital gains tax purposes.
- (19) Amounts of capital invested returned to you.
- (20) Income not assessable, however (for interests in Managed Investment Trusts) will adjust the cost base of units for capital gains tax purposes.
- (21) Any tax exempt amounts, which, depending on your circumstances, may reduce any tax losses that are otherwise available to you.
- (22) Other amounts not included in your assessable income.
- (23) Any amount of income that is not assessable and is not exempt for tax purposes.
- (24) AMIT net cost base adjustment Upward adjustment: increases the cost base of an interest in an Attribution Managed Investment Trust. Downward adjustment: decreases the cost base of an interest in an Attribution Managed Investment Trust.

## Income statement reconciliation

### Account number: 24873800005

### Income

Cash distribution relating to current year per income statement	\$55,271.46
Plus income received on or after 1 July 2019 relating to prior year	\$49,260.83
Plus post AMMA payment paid in current year relating to prior year	\$0.00
Plus income received in current year relating to next year	\$0.00
Less income received in prior year relating to current year	\$34,564.59
Less income received after 30 June 2020 relating to current year	\$0.00
Less post AMMA payment received after 30 June 2020 relating to current year	\$0.00
Less any post AMMA payment due but not received relating to the current year	\$0.00
= Income received per transaction statement in the period 1 July 2019 to 30 June 2020	\$69,967.70
Expenses	
Fees per income statement	(\$5,778.99)
Plus fees paid on or after 1 July 2019 relating to prior year	(\$488.20)
Less fees paid after 30 June 2020 relating to current year	(\$487.84)
= Fees paid per transaction statement in the period 1 July 2019 to 30 June 2020	(\$5,779.35)

### Note

The information disclosed in the Income statement and the Consolidated tax details report is relevant for use when completing the self-managed superannuation fund income tax return.

The Income statement consists of distributed/attributed income, including any post AMMA payments from underlying investment products generally on an accrual basis relating to the 2019/2020 financial year.

Where income has accrued on hybrid securities in the portfolio within the financial year but received after this date, the transaction in other reports available online may use the entitlement date as the transaction date.

# **Capital gains statement**

# Capital gains from 1 July 2019 to 30 June 2020

Fund / security		Units	Unit price	Unit value	Cost base	Indexed / reduced cost base	Indexed capital gains	Gross discountable capital gains	Less discount (33 1/3%)	Discounted capital gains	Other capital gains	Capital loss
					(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)
MLC Wrap I Account nur		nents Series 2 1873800005										
Managed inv	estment	ts										
Templeton G 17/02/2015	<b>lobal Ec</b> Buy	quity										
17/10/2019 23/04/2015	Sell Buy	6,961.0680 6,961.0680 27.7259	\$1.3391 \$0.8290 \$1.4041	\$9,321.57 \$5,770.72 \$38.93	\$9,315.65	\$9,315.65	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$3,544.93
17/10/2019 22/07/2015	Sell Buy	27.7259 27.7259 3,582.0389	\$1.4041 \$0.8288 \$1.3574	\$36.93 \$22.98 \$4,862.26	\$38.91	\$38.91	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$15.93
17/10/2019 24/08/2015 17/10/2019	Sell Buy Sell	3,582.0389 24,150.6940	\$0.8290 \$1.2422	\$2,969.51 \$30,000.00	\$4,859.21	\$4,859.21	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$1,889.70
26/10/2015 17/10/2019	Buy Sell	24,150.6940 257.0688	\$0.8290 \$1.3084	\$20,020.93 \$336.35	\$29,979.46	\$29,979.46	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$9,958.53
19/01/2016 17/10/2019	Buy Sell	257.0688 203.2169	\$0.8290 \$1.1748	\$213.11 \$238.74	\$336.14	\$336.14	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$123.03
18/04/2016 17/10/2019	Buy Sell	203.2169 72.5545	\$0.8290 \$1.1594	\$168.47 \$84.12	\$238.57	\$238.57	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$70.10
14/07/2016 17/10/2019	Buy Sell	72.5545 12,626.8811	\$0.8290 \$1.0007	\$60.15 \$12,635.72	\$84.06	\$84.06	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$23.91
24/10/2016	Buy	12,626.8811 281.6233	\$0.8290 \$1.0421	\$10,467.68 \$293.48	\$12,624.98	\$12,624.98	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$2,157.30

000179191100005MLC TX20R5-1A->PRES-20201021

Fund / security		Units	Unit price	Unit value	Cost base	Indexed / reduced cost base	Indexed capital gains	Gross discountable capital gains	Less discount (33 1/3%)	Discounted capital gains	Other capital gains	Capital loss
					(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)
17/10/2019	Sell	281.6233	\$0.8290	\$233.47	\$293.25	\$293.25	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$59.78
18/01/2017	Buy	134.3632	\$1.1102	\$149.17								
17/10/2019	Sell	134.3632	\$0.8290	\$111.39	\$149.06	\$149.06	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$37.67
12/07/2017	Buy	8,098.2432	\$1.0989	\$8,899.16								
17/10/2019	Sell	8,098.2432	\$0.8290	\$6,713.44	\$8,892.25	\$8,892.25	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$2,178.81
12/10/2017	Buy	211.1440	\$1.1288	\$238.34								
17/10/2019	Sell	211.1440	\$0.8290	\$175.04	\$238.17	\$238.17	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$63.13
12/01/2018	Buy	143.4159	\$1.2099	\$173.52								
17/10/2019	Sell	143.4159	\$0.8290	\$118.89	\$173.40	\$173.40	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$54.51
11/07/2018 17/10/2019	Buy Sell	14,582.2067	\$1.0594	\$15,448.39								
10/10/2018	Buy	14,582.2067	\$0.8290	\$12,088.65	\$15,448.39	\$15,448.39	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$3,359.74
17/10/2019	Sell	262.0072	\$1.0831	\$283.78								
16/01/2019	Buy	262.0072	\$0.8290	\$217.20	\$283.78	\$283.78	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$66.58
17/10/2019	Sell	63.3897	\$0.9959	\$63.13								
11/04/2019	Buy	63.3897	\$0.8290	\$52.55	\$63.13	\$63.13	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$10.58
17/10/2019	Sell	150.3380	\$1.0636	\$159.90								
10/07/2019	Buy	150.3380	\$0.8290	\$124.63	\$159.90	\$159.90	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$35.27
17/10/2019	Sell	22,006.2212	\$0.8101	\$17,827.24								
11/10/2019	Buy	22,006.2212	\$0.8290	\$18,243.16	\$17,827.24		\$0.00	\$0.00	\$0.00	\$0.00	\$415.92	\$0.00
17/10/2019	Sell	339.7506	\$0.8269	\$280.94								
11/10/2010	Coll	339.7506	\$0.8290	\$281.65	\$280.94		\$0.00	\$0.00	\$0.00	\$0.00	\$0.71	\$0.00
						Sub total	\$0.00	\$0.00	\$0.00	\$0.00	\$416.63	\$23,649.50
Shares												
<b>ANZ BANK</b> 24/08/2015	Buy											
12/05/2013	Sell	349.0000	\$27.5800	\$9,625.42								
04/04/2017	Buy	349.0000	\$15.5500	\$5,426.95	\$9,681.84	\$9,681.84	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$4,254.89
12/05/2020	Sell	31.0000	\$31.8700	\$987.97								
12/00/2020	001	31.0000	\$15.5500	\$482.05	\$1,023.41	\$1,023.41	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$541.36

Page 2 of Capital gains statement

-----

000179191100005MLC TX20R5-1A->PRES-20201021

Fund / security		Units	Unit price	Unit value	Cost base	Indexed / reduced cost base	Indexed capital gains	Gross discountable capital gains	Less discount (33 1/3%)	Discounted capital gains	Other capital gains	Capital loss
					(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)
23/10/2018 12/05/2020 23/10/2018 12/05/2020	Buy Sell Buy Sell	39.0000 39.0000 15.0000 15.0000	\$25.6200 \$15.5500 \$25.6200 \$15.5553	\$999.18 \$606.45 \$384.30 \$233.33	\$1,026.08 \$393.47	\$1,026.08 \$393.47 Sub total	\$0.00 \$0.00 <b>\$0.00</b>	\$0.00 \$0.00 <b>\$0.00</b>	\$0.00 \$0.00 <b>\$0.00</b>	\$0.00 \$0.00 <b>\$0.00</b>	\$0.00 \$0.00 <b>\$0.00</b>	\$419.63 \$160.14 <b>\$5,376.02</b>
BORAL LTD 07/09/2016 12/05/2020 11/07/2018 12/05/2020 16/10/2019 12/05/2020 16/10/2019 12/05/2020	Buy Sell Buy Sell Buy Sell	1,401.0000 1,401.0000 381.0000 381.0000 716.0000 716.0000 103.0000 103.0000	\$6.4250 \$2.7150 \$6.5450 \$2.7150 \$4.8800 \$2.7150 \$4.8750 \$2.7150	\$9,001.43 \$3,803.72 \$2,493.65 \$1,034.42 \$3,494.08 \$1,943.94 \$502.13 \$279.65	\$9,052.20 \$2,531.48 \$3,536.16 \$503.44	\$9,052.20 \$2,531.48 \$3,536.16 \$503.44 <b>Sub total</b>	\$0.00 \$0.00 \$0.00 \$0.00 <b>\$0.00</b>	\$0.00 \$0.00 \$0.00 \$0.00 <b>\$0.00</b>	\$0.00 \$0.00 \$0.00 \$0.00 <b>\$0.00</b>	\$0.00 \$0.00 \$0.00 \$0.00 <b>\$0.00</b>	\$0.00 \$0.00 \$0.00 \$0.00 <b>\$0.00</b>	\$5,248.48 \$1,497.06 \$1,592.22 \$223.79 <b>\$8,561.55</b>
CSL 11/07/2018 16/10/2019 11/07/2018 16/10/2019	Buy Sell Buy Sell	8.0000 8.0000 1.0000 1.0000	\$195.0400 \$252.7800 \$195.0400 \$252.7900	\$1,560.32 \$2,022.24 \$195.04 \$252.79	\$1,597.87 \$195.61	Sub total	\$0.00 \$0.00 <b>\$0.00</b>	\$424.37 \$57.18 <b>\$481.55</b>	\$141.44 \$19.06 <b>\$160.50</b>	\$282.93 \$38.12 <b>\$321.05</b>	\$0.00 \$0.00 <b>\$0.00</b>	\$0.00 \$0.00 <b>\$0.00</b>

000179191100005MLC TX20R5-1A->PRES-20201021

Fund / security		Units	Unit price	Unit value	Cost base	Indexed / reduced cost base	Indexed capital gains	Gross discountable capital gains	Less discount (33 1/3%)	Discounted capital gains	Other capital gains	Capital loss
					(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)
JB HI-FI 23/12/2016 12/05/2020 11/07/2018 12/05/2020 11/07/2018 12/05/2020 16/10/2019 12/05/2020 16/10/2019 12/05/2020	Buy Sell Buy Sell Buy Sell Buy Sell	252.0000 252.0000 53.0000 53.0000 4.0000 4.0000 51.0000 51.0000 38.0000 38.0000	\$27.7500 \$35.3700 \$22.7800 \$35.3700 \$22.7800 \$35.3600 \$33.5600 \$33.5600 \$33.5700 \$35.3600	\$6,993.00 \$8,913.24 \$1,207.34 \$1,874.61 \$91.12 \$141.44 \$1,711.56 \$1,803.36 \$1,275.66 \$1,343.68	\$7,053.26 \$1,243.75 \$93.44 \$1,744.56 \$1,275.66	Sub total	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 <b>\$0.00</b>	\$1,859.98 \$630.86 \$48.00 \$0.00 \$0.00 <b>\$2,538.84</b>	\$619.93 \$210.27 \$16.00 \$0.00 \$846.20	\$1,240.05 \$420.59 \$32.00 \$0.00 \$0.00 <b>\$1,692.64</b>	\$0.00 \$0.00 \$58.80 \$68.02 <b>\$126.82</b>	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 <b>\$0.00</b>
RESMED 11/07/2018 16/10/2019	Buy Sell	147.0000 147.0000	\$14.3900 \$19.6600	\$2,115.33 \$2,890.02	\$2,154.28	Sub total	\$0.00 <b>\$0.00</b>	\$735.74 <b>\$735.74</b>	\$245.22 <b>\$245.22</b>	\$490.52 <b>\$490.52</b>	\$0.00 <b>\$0.00</b>	\$0.00 <b>\$0.00</b>
SYDNEY AIR 20/10/2015 12/05/2020 11/07/2018 12/05/2020	Buy Sell Buy Sell	716.0000 716.0000 897.0000 897.0000	\$6.3800 \$5.6400 \$7.2400 \$5.6400	\$4,568.08 \$4,038.24 \$6,494.28 \$5,059.08	\$4,581.84 \$6,545.32	\$4,581.84 \$6,545.32 <b>Sub total</b>	\$0.00 \$0.00 <b>\$0.00</b>	\$0.00 \$0.00 <b>\$0.00</b>	\$0.00 \$0.00 <b>\$0.00</b>	\$0.00 \$0.00 <b>\$0.00</b>	\$0.00 \$0.00 <b>\$0.00</b>	\$543.60 \$1,486.24 <b>\$2,029.84</b>

Fund / security		Units	Unit price	Unit value	Cost base	Indexed / reduced cost base	Indexed capital gains	Gross discountable capital gains	Less discount (33 1/3%)	Discounted capital gains	Other capital gains	Capital loss
					(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)
WOODSIDE												
08/12/2014	Buy											
12/05/2020	Sell Buy Sell	7.0000	\$35.6457	\$249.52			•					<b>*</b> ***
08/12/2014		7.0000	\$22.1000	\$154.70	\$252.76	\$252.76	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$98.06
12/05/2020		20.0000	\$35.6500	\$713.00			<b>Aa aa</b>	• • • • •	• • • • •		<b>Aa a a</b>	<b>4070 50</b>
08/12/2014	Buy	20.0000	\$22.1000	\$442.00	\$715.52	\$715.52	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$273.52
12/05/2020	Sell	23.0000	\$35.6500	\$819.95	\$000 OF	\$000 OF	<b>*</b> 0.00	<b>\$</b> 0.00	<b>\$</b> 0.00	<b>*</b> 0.00	<b>#</b> 0.00	<b>\$04455</b>
08/12/2014	Buy	23.0000	\$22.1000	\$508.30	\$822.85	\$822.85	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$314.55
12/05/2020	Sell	83.0000	\$35.6500	\$2,958.95	¢2.060.40	¢2.060.40	¢0.00	¢0.00	¢0.00	0.00	¢0.00	¢1 105 10
24/08/2015	Buy	83.0000 129.0000	\$22.1000 \$30.3900	\$1,834.30	\$2,969.40	\$2,969.40	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$1,135.10
12/05/2020	Sell	129.0000	\$30.3900 \$22.1000	\$3,920.31 \$2,850.90	\$3,964.75	\$3,964.75	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$1,113.85
24/08/2015	Buy	22.0000	\$22.1000 \$30.3900	\$2,850.90 \$668.58	\$3,904.75	\$3,904.75	\$0.00	φ0.00	<b>Ф</b> 0.00	φ0.00	<b>Ф</b> 0.00	φ1,113.65
12/05/2020	Sell	22.0000	\$22.1050	\$486.31	\$673.39	\$673.39	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$187.08
16/10/2019	Buy	93.0000	\$31.9300	\$2,969.49	ψ075.55	ψ075.55	φ0.00	\$0.00	\$0.00	φ0.00	ψ0.00	φ107.00
12/05/2020	Sell	93.0000	\$22.1051	\$2,055.77	\$3,002.49	\$3,002.49	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$946.72
		50.0000	Ψ <u>2</u> 2.1001	φ2,000.11	ψ0,002.40	Sub total	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$4,068.88
						Total	\$0.00	\$3,756.13	\$1,251.92	\$2,504.21	\$543.45	\$43,685.79

#### Notes

(1) Cost base of units increased by initial/service fees but adjusted by tax deferred amounts and reduced input tax credits on initial/service fees, and tax free amounts where a capital loss will arise. For an AMIT, the cost base of units may be adjusted by the net cost base adjustment amount.

(2) Cost base of units increased by initial/service fees and any applicable indexation but adjusted by tax deferred amounts (which may also be indexed), reduced input tax credits on initial/service fees and tax free amounts where a capital loss will arise. For an AMIT, the cost base of units may be adjusted by the net cost base adjustment amount.

(3) Capital gain using the indexation method.

(4) Gross capital gain that is eligible for discount method.

(5) Available discount on gross discountable capital gains.

(6) Capital gain using discounted method (i.e. a discount of 33 1/3% has been applied).

(7) Capital gain from assets held less than 12 months.

(8) A capital loss arises where the asset's reduced cost base exceeds the capital proceeds received.

Columns 3 to 8 are relevant for use when completing your income tax return.

If the self-managed superannuation fund has sold any investments during the 2019/2020 financial year, the capital gains or losses arising from these sales are shown on this statement. Some investments aren't subject to capital gains tax and if the self-managed superannuation fund holds any of those investments, they won't appear on this statement. If you have any further queries, please speak with your financial adviser or tax adviser.

If you have made a transfer into MLC Wrap that doesn't involve a change in beneficial ownership but you haven't provided us with your history, this statement shouldn't be relied upon for tax calculation purposes.

Please refer to ato.gov.au for further details.

**Disclaimer:** The information contained in this report does not constitute financial product advice by Navigator Australia Limited ABN 45 006 302 987 AFSL 236 466 (NAL), nor is the information suitable to be acted upon as investment advice. These reports are provided for your information only and are not intended to constitute tax advice. Navigator is not a registered tax agent. If you wish to rely on the general tax information contained in these statements and reports to determine your personal tax obligations, we recommend that you seek professional advice from a registered tax agent. Some of the information (including share and unit prices) on which this report is based can change quickly. Navigator has relied on information provided by third parties in creating this report. While it is believed the information in this report is accurate and reliable, this is not guaranteed in any way.